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Mid-Term Examination
SOCIAL SCIENCE
i MT-2024-10(B)

Time : 3 hrs. M. Marks : 80

General Instructions:

1 The question paper comprises Six Sections - A, B, C, D, E and F. There
are 37 questions in the Question paper. All questions are compulsory.

2 Section A —Question I to 20 are MCQs of 1 mark each.

3. Section B — Question 21 to 24 are Very Short Answer Type Questions,
carrying 2 marks each. Answer to each question should not exceed 40
words. —y

4. Section C - Question 25to 29 are Short Answer Type Questions, carrying
3 marks each. Answer to each question should not exceed 60 words

5. Section D— Question 30 to 33 are long answer type questions, carrying
S marks each. Answer to each question should not exceed 120 words.

6.  Section-E - Question 34 to 36 are case based questions carrying 4 marks
each. Answer to each question should not exceed 100 words.

7.  Section F — Question 37 is a map based question, carrying 5 marks with

two parts, 37 (I)from History (2 marks) and 37(Il) from Geography
(3 marks).

7 8. There is no overall choice in the question paper. However, an internal

choice has been provided in a few questions. Only one of the choices in
such questions has to be attempted.

SECTION-A
MCQs (1 x 20=20)
Choose the correct option:
1.  Theproportion of women among the highly paid and valued jobs, is still very small.
Identify the appropriate reason: (1)
a. Lowsexratio
b.  Lessjob opportunities
¢.  Lowliteracy rates and high skills among women

d.  Lowliteracy rates and low skills among women
2.  Formal sources of credit does not include/s:

(D
1.  Gold merchant 2 Cooperatives
3.  Govemment Bank 4. Money lender
a. 1,2and3 b. 1,3 and 4
c. land4 d.  2and3
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3. Which of the following is the best example of a public service? .
a.  Medicines and injections
b.  Books and stationary
c.  Housesand fumiture
d. Lawandorder .

4.  Suppose there are four families in your locality, the average per capita income of
whom is 12,500. If the income of three families is 12,000, 11,000 and 10,000
respectively, what would be the income of the fourth family? M
a. 5000 b. 12,000
c. 10,000 S d. - 17000 -

5.  Two statements are marked as Assertion (A) and Reason (R) choose the correct
answer from the given options M

Assertion (A) : JFM programme has helped to conserve degraded forest areas by
involving local communities.

Reason (R) : Members of the local communities are entitled to intermediary benefits
like non timber forest products.

a. BothAandR aretrue and R is the correct explanation of A

b. BothA and R are true but R is not the correct explanation of A
c. AistruebutRis false

d. A is false but R is true

6.  Match the following columns and choose the correct option:

COLUMN I COLUMNII
L Chipko movement

M

1. Tehri
1I. Beejbachao andolan 2. Odisha
III.  Joint forest management 3. Alwar
IV. Bhairodev Dakav sanctuary 4. Himalayas
OPTIONS:
I n 1w
a. 1 2 3 4
b. 4 1 2 3-
¢ 2 3 4 1
d 3 4 1 2
7.  Whereis the famous village of Gendathur located? @
a.  Mysuru, Karnataka
b.  Shillong, Meghalaya
¢.  Jaisalmer, Rajasthan
d.

Tehri , Uttrakhand
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8. Which one of the following pairis incorrectly matched? (1)

10.

12

13.

14.

a.  Primary sector- Mining
b.  Secondary sector- Cement factories
c.  Tertiary sector- Growing of wheat
d.  Manufacturing sector— Production of Laptop
Choose the correct statement about factors that have helped globalisation in India:

(1
Improvement in transportation technology

High cxport duties

Improvement in telecommunication and information
Liberalisation of foreign trade and foreign investment
AandB b. A, CandD -

Band C d. ABandC
Globalisation, by connecting countries, shall result in -

a.  Lesser competition among producers.

P UNwy

M

b.  Greater competition among producers, °

. Nochange in competition among producers,

d No development of local MNC’s

Laws concerning family matters such ag marnage, divorce, adoption etc. are known
as 1))
a.  Familylaws b.  Constitutional laws

C.  Cnminal laws d.  Civillaws

Why is power sharing amongst different organs of the government called horizontal
distribution of power? Identify the correct reason. 4))

a.  Itgivesjudiciarymore power than legislature and executive
b.  Itallows different organs of government to be placed at the same level”
c.  Itgivesrepresentation to different ideolo gies at political leve)

d.  Itinfluences and coordinates in the decision-making process

Consider the statements given below : (1)

Statement 1. States such as Madhya Pradesh, Rajasthan, and Uttar Pradesh enjoy
special powers.

Statement II. The Constitution of India under Article 371 ensures the special powers
and status to these states,

a.  (Discorrectand (Il)isincorrect. b, (I) 1s incorrect and (IT) is correct -
¢.  Both () & (Il) are incorrect d. Both (I) & (II) are correct

There are two statements marked as Assertion (A) and Reason (R). Mark your
answer as per the codes provided below ° 1)

/e B
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Assertion (A): Power-sharing is an essential feature of ademocratic country. .
Reason (R): It increases the possibility of majority dominance. ‘
a.  Both(A)and (R) aretrue and (R) s the correct explanation of (A)

b.  Both(A)and (R) are true but (R) is not the correct explanation of (A)

c. (A)istruebut(R)is false -
d

(A)is falsebut (R) is true
Which one of the following subjects isincluded under the Concurrentlist? (1)
a.  Foreignaffairs b. Adoption and succession
¢. Commerce g Trade
Amange the following in the correct sequence: )]

I ComingofSimon Commissionto India

I Demand of Purna Swarajin Lahore Session of INC
III. Government of IndiaAct, 1919

IV. Champaran Satyagraha

Option:

a.  II-IV-I b. IV

c. ILI-TV-I .d. IV-ILLI

The image below refers to boycott of foreign cloth, J uly 1922. Identify the reason
for the boycott: 4))

a. Khad1 was seen as the symbol ofWestem economlc and cultural domination

Foreign cloth was seen as the symbol of Western economic and cultural
domination

c.  Khadi wasseenas the symbol of support to Westem economic and cultural
domination
d.  Foreignclothwas seen as the economic benefit for the masses

/
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| 9% & among the following was the founder of “Young Europe’ secret society in

18. (;)
Beme? | o
a.  Giuseppe Garibaldi b. Giuseppe Mazzini
¢.  OttovonBismark d. Count Cavour
;{ 19. Legends spreadin seventeenth-century Europe about South America’s fabled wealth.
Many expeditions set offinsearchof.............., the fabled cityof .. .......... (1)
a.  Cape of Good Hope , diamond

b.  ElDorado, silver
c. Cuba,gold
d.  ElDorado, gold

20. Column I Column II Q)
1.  Barter System A. Currency
2. Formal sector loan B. Double coincidence of wants
3. Modem forms of money C. Reserve Bank
4. Currency issuing authority D. State Bank of India
a. 1 -A,2-B,3-C,4-D b. 1 -C 2-D, 3-A, 4-B
c. 1-B2-D,3-A 4C. d. 1 -B ,2-A, 3-D, 4-C
SECTION-B

VERY SHORT ANSWER BASED QUESTIONS (2 x4=8)
Z1.  Enlistanytwo objectives of Mahatma Gandhi National Rural Employment Guarantee

Act2005. @)
©2) Thesoilis known as a living system. Give two points to justify the statement. )]
E (LZ)./State any two flaws in the ideology of communal politics. 2)
E 24" Trade and cultural exchange always went hand in hand. Explain the statement in the
light of silk routes. )
SECTION -C

SHORT ANSWER BASED QUESTIONS 3 x5=15)
The question of sustainability of development raises many fundamental issues about
nature and process of development. Analyse the statement with the help of examples.
(3) %
All the services of the tertiary sector are not growing equally well. Evaluate the
statement. 3) «
,' ‘Plantati.ons have an interface of agriculture and industry.” Justify this statement with
| appropriate arguments. Give three points, 3)
OR
Q}ive the geographical conditions required for rubber cultivation.

28" The various policies of government in Sri Lanka alienated Tamils. How did Tamils
struggle for their demands in Sri Lanka? (3)
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\29/ The 1830s TS of great economic hardship in Europe. Elaborate the givg{ ~
statement with suitable explanation.

OR
/ﬁcplain the Greek War of Independence
SECTION-D
LONGANSWER-BASED QUESTIONS (5 x 4=20)
}Of Sel f-He!p (?Jroups are the building blocks of organising the rural poor. Explain by
elaborating its formation and functions. &)
OR

~/P/rayan is a government employee and belongs to a rich household, whereas Rajuis
a construction worker and comes from a poor rural household. Both arein need of
aloan. Create alist of arguments explaining who between the two would successfully
be able to arrange money from a formal source. Why?
JM’. How has formation of linguistic state strengthened federalism in India? ®)

OR

\/Bn/umerate the features of federalism.
Describe how modern adaptations of traditional rain water harvesting methods are
being carried out to conserve and store water in India. )
OR ;
Define the term dams. How do they help in conserving and managing the water
resources? Why have dams been proclaimed as ‘temples of modem India’?

" What marked the beginning of Civil Disobedience Movement. Examine the limits |

of Civil Disobedience Movement with suitable explanations. ©)
OR
~Bvaluate the contribution of history folklore, songs and popular prints in shaping
nationalism in India.
SECTION-E

CASE-BASED QUESTIONS (4 x 3=12)
34. Read the extract carefully and answer the questions given below.
Agriculture has been practised in India for thousands of years. Sustained uses of
Jand without compatible techno-institutional changes have hindered the pace of
agricultural development. Inspite of development of sources of irrigation most of the
farmers in large parts of the country still depend upon monsoon and natural fertility in

order to carry on their agriculture. For a growing population, this poses a serious
challenge. Agriculture which provides livelihood for more than 60 per cent of its

population, needs some serious technical and institutional reforms.

The laws of land reforms were enacted but the implementation was lackingor
Jukewarm. The Government of India embarked upon introducing agricul ural &
to improve Indian agriculture in the 1960s and - But this too led to
concentration of development in fev 1 1980

e




m. What is the importance of agricultur

147 Listanytwo provisions of

y? (Giveany two
(1)

the comprehensive land development pro gramr(rit;.

143 Mention any two institutional reforms introduced in the post -independence

period to improve the output ofthe agricultural sector. (2)

¢ in the Indian econom

points)

35, Read the given case/source and answer the questions that follow:

36.

Caste is an important source of economic inequality because it regulates access to
resources of various kinds. The relationship between caste and economic status has
certainly changed alot. Today, itis possibleto find very rich and very poor people in
every caste, whether ‘low’ or ‘high’. This was not true even twenty or thirty years
ago— it was very rare indeed to find rich people among the ‘lowest’ castes. However,
as this evidence from the National Sample Survey shows, caste continues to be very

strongly linked to economic status in many important ways:

* The average economic status (measured by criteria like monthly consumption
expenditure) of caste groups still follows the old hierarchy — the ‘upper’ castes are

best off, the Dalits and Adivasis are worst off, and the backward classes are in
between. . 4

, ,
Although every caste has some poor members, the proportion living in extreme

poverty (below the official ‘poverty line’) is much higher for the lowest castes and
much lower for the upper castes, with the backward classes once again in between
- What do we understand by the term ¢ vote bank’ 2 (1)

35.2. Mention any one way in which caste is politicised . (1)

35.3. Anal}"se any two reasons for weakening of caste system in modern times. 2)
Read the given case/source and answer the questions that follow:

How were liberty and equality for women to be defined?

Theliberal politician Carl Welcker, an elected member of the F

Carl V rankfurt Parli
expressed the following views: ‘Nature has created men and women t(iairmyesltl’t

gleff_erent f;nctions .-- Man, the stronger, the bolder and freer of the two, has been
signated as protector of the family, its provider, meant for public ta,sks in the

domain of law, production, defen
; ’ ) ce. Woma: e
requires the protection of man, Her sph n, the weaker, dependent and timid,

. _ ereis thehome, the care of the chi

nurtuau]rjmg ofthe famﬂy ... Do werequire any further proofthat givgn suzgﬁlf?m the
eq ty_bet\,)veen 'the sexes would only endanger harmony and destroy th IGENES,
the family?’ Louise Otto-Peters (181 ey thedignityol

o3 9-95) wasa 1’ 3 .« .
women’s journal and subsequently a feminist politilézl lat:zlcia:t?:;ﬁ who founded a

@ . What was the aim of Frankfurt parliament 9
36.2. What was the status of women in the Frank firt parliament?

@. Mention two significant outcomes of libera] movements in 1848

(1)
(1)
2)
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SECTION-F A

MAP SKILL-BASED QUESTION (2+3=5)
37 (@) Twoplacesa and b have been marked on the given outline map of India.
Identify them and write their correct names on the lines drawn near them.

a.  Placeassociated with peasant satyagraha in Gujarat. 1
b. Indian National congress session took place here in 1920 (1)
(@ 1§  Onthegivenpolitical map of India two features ‘A’ and ‘B have been

marked. Identify them with the help of given information.
A- Soil type.
B-Plantation crop
1)  Onthesamepolitical map mark, locate and label any one of the following
a) Salaldam
b)  RanaPratap Sagar dam (2+1=3)
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